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The sum of the third and the seventh term of an ascending arithmetic progression (AP) is 12 and
their product is 32. The ninth term of the series is

(a) 10 (b)7 (c) 124 (d) 14

w5 il uHiaz gell- o 24 A Ul AL 12 68 24 d¥el 9Rusiz 32 69 dl 4 2elld
el ue alltl.

(a) 10 (b)7 (c) 124 (d) 14

The sum of a two digit number and the number formed by reversing the order of the digits is 88. If
the digits differ by 2, the number is

(a) 46 (b)53 ()57 (d) 86

of wislll 25 vl 2 del 2isld Gaziadl Hodl vzl 22il 88 9. Al vl il
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(a) 46 (b) 53 (c) 57 (d) 86
The difference of the roots of the equation x>-7x-9=0is:

(a) 7 ()9 (©) /85 (d) 24/85
wllszel X2 -7X-9=0 -l ool dsiad s,

(a) 7 (b) 9 (©) /85 (d) 2485
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Useful physical constants:

(i) Acceleration due to gravity: 9.8 ms~

(ii) Avogadro s number: 6 x 107 mol!

(iii) Boltzmann ‘s constant: 1.4 x 1023 J°K"!

Guuioll aiilas wamist

(i) Azcaudor : 9.8 Hlez /dss

(i) 2l gl H2qis 6 x 107 Hiz!

(iii) sticcrMirtetl 2395 1.4 x 107 get / sedln

A cyclist is moving with a constant velocity of 10.8 km h! along a straight road. Another cyclist

starts from rest and moves along the same direction with a constant acceleration of 3 ms?2, If both
start from the same point, they will meet again after

(a)12m (b) 13.8m (c)6m (d)7.8m

wis 10 5e ez el Jel uz 10,8 4L 7 sels L w0 ol oild 530 2l 9. ol 11554
Halz % [l 3 30/ @g=g) Al 2o udoiell ald 33 s3 9. o ol wis % =ikl wulasd)
A2l 53l ld dl dail S2el 1y ugl wisellansd 3,

(a) 12 m (b) 13.8 m (c) 6m (d) 7.8 m

(10) Abullet weighing 0.01 kg is fired with a velocity of 8.0 ms™'. After passing through a mud wall of'1.0

m thick, its velocity fallsto 1.0 ms™. Find the average force of resistance offered by the mud wall.
(a)3.15N (b) 0.325N (c)32.5N (d) 0.315N

(10) »ls 0.01 (5.0, -l sjde 8.0 L/ A, «w <Pl el »ud 9. 1+l 2l Wl elaaniel

YRR 2ul el dddl dot =2l 1.0 0/ AL e B, dl L Qe girl adig w321 wrdiea
2lldl.
(a) 3.15 ye- (b) 0.325 ~ye~i (c) 32.5 =ye-i (d) 0.315 =~ye-i

(I1) Ifthe earth has a mass nine times and radius twice that of the mars, calculate the minimum velocity

required by a rocket to pull out of the gravitational field of mars. Consider the escape velocity at
earthis 11.2 kms".

(a) 5.28 kmss! (b)2.54 km ! (c)52.8 kms! (d) 25.4 km !
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Which of the following is not a connective tissue?

(a) bone (b) cartilage (c)blood  (d) muscles
{1 2ude [aseql siddl sl [asew Aqyins sl <4l 2

(a) BL35 (b) Sl (Carilage) (c) 3(42  (d) 2-uy
Neurons receive nutrients from

(a) erythrocytes (b) glial cells

(c) monocytes (d) blood platelets

Aclls% (Neurons) UiM el simiell Hoel 9 2

(a) 2558l (b) glial Cells

(c) »ls 5dlsBl (Alds.l) (monocytes) (d) 3l4zslBis

One of the common symptoms observed in people infected with Dengue fever is

(a) significant decrease in RBC count (b) significant decrease in WBC count
(c) significant decrease in platelets count (d) significant increase in platelets count

doyell ueifd dllsiml %Alal Holel HHLA CesL 540 89 2
(@) EASRUIAL AvUHL AUHIREL 8213l (b) Aaseii-l Huaimi A48 82Lsl.

(c) 3z slBst-l vyl vae gelsl . (d) 3MmslBistel Al siuaeL a4,
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(27) The gasina vessel is subjectto a pressure of 20 atm ata temperature of 27°C. The pressure of the
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gas in the vessel after one half ofthe gas is released and the temperature of the gas is raised further
by another 30°C is:

(a) 10atm (b) 11 atm (c)22 atm (d)22.1 atm

215 UAHL 20 AllaRBlL 868 2 27% C cluHidd <l A 9, % WML Ayl 22l vigHl 550
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(a) 10 <lldlazBl (b) 11 <lctazsl (c) 22 dlaldzBL (d) 22.1 <ldlereL
From thermodynamics the average speed (in km s') of a nitrogen molecule (N,) in the atmosphere
at a temperature of 27°C is:

(a) 0.003 (b)0.7 (c)0.52 (d)2.0

Gwoi[d el (thermodynemics) %6l 27° € cluHird dlelaeHl A2l i8] (Nl #2219
FM___ KmST!

(a) 0.003 (b)0.7 (c) 0.52 (d)2.0

In achemical reaction 15 moles of molecular hydrogen is used to produce ammonia. The amount of
ammonia produced (in gram) is:

(a) 170 (b) 85 (c) 51 (d)25.5

g B WEAHL BURYL otriaal M2 15 Hlel el gl Ay aud 6 dl siridl 1l
aydes M.



